EARAROBEEIERT — 2 N— IBISH —F

20185 7H 148 (£) 8EMAE1H

ICBChY)—X C2 #5%4mkE (xwlw | lmEmml - |5 ) w8
[AE£] 1%&:210,000”M ~ 2#%:63,000” ~ 37%&:21,000 ™  43%&:13,000 M 53 :8,000 0
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= HZKFRA . —4-5- — FIEE (£8)
i | TV o4 okt 1.(2_5).5 5-4-5-3 | 38.6 1 (4_532) Fmg_ i1
LN=HNK B:T7I7vHTrKY TIXTT— L
N N maE% 105, =2 . = FlEE (1£8)
2 K i 5 s 1(215)7 3-3-3-2 | 39.8 4 :119) iﬁ#;ﬁﬂz i
RTFRIA YTy IR B:E—FysaTl— SER1E
= [+ = : -1-1- — FlEBE (1EH)
3 JNEHAFTIvT SRR it 1'(215>'9 B ’ :‘55) PR
R:€rs/n7aq4 B:JrUTC LT (B) A3 -FRL—->a>aEI7
AIMES : -5-4- — FEBH (£8)
4l5l5 |V /¥R i 4 2l (11.216/.41) 4-5-4-4 | 39.4 2 (5:350) g Ll
L:G4 7 T—EY B:YI7EXI-52F HRSHE THZ77—L4
3 S = o5 | IS 1:26.1 8-8-8-8 |38.2| — 8 462 | BINEX (£R)
EH 6| Ya—>T#INT 56.0 ) -10) | () J P NFH
R Z2xXH=w R B:F7T)—-n"a-X EZdHTT— L
s - - 2 ITaE :126. —6-6- . — wHFEE (EE)
6l7|l7|*FT7T IV T o 1(32/6;1)2 CoeT |20 ! ‘zg;‘ ZmEE
RiFkovH/xwF BixFTIU-—7 =¥ T L
N N FHRAFIK : 77— — EHEE (&H)
il oerru—soz TR vzo | 7a7e [mel — | o | s |EEEE Gex
LNn—ErTv— B:T7T7V-42ZX J—=HrTrp—L
# 6 | EHFEA 1:28.2 2-22-5 [43.1| — | 5 | 541 |AIEX (£8)
glalg|N7LIVT AT — 56.0 ®) 2 | W0 H 1a-FKr-va>
L:vrNnyarh7r B:vv/4-07 &k B
® I —F—@EBIERL
13=zr= 3,8,4,5,2,7,1,6
Aol=5r= 3,8,4,2,5,7,1,6
BEE 3,8,4,5,2,7,1,6
43—+ — 3,4,2,5,8,1,7,6
[ RN
B OB 2 270M 714K 2-4 270M B E 2-4 870M &R 2-3-4 1,440H
8 B 2 1309 2-3 390M B H 2-4 940M JEH 2-4-3 5,340/
4 240H 3-4 720
8 140M

ABICOVWTRDTEEERROODE. TR LIV,




